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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

SI unit of pressure is Pascal which is equal to : : ‘gtn/.u.gf/g.{w%fg&gwgut ﬁ'}“«"ﬁ 1 -1
1x10°Nm™ (D) 1x10°Nm™ () 1x10°Nm ™ B) 1x10' M~ (A)

Global positioning system (GPS) consists of earth satellites : : g;t‘nuuf;urlﬂi”ﬁfjf(GPS)ﬁ/ﬁ‘%JgJJ 2
26 (D) 25 (C) 24 (B) 23 (A)

Which of the following materials has large value : La&nu&]&éJ&f&UZﬂ%d?&idﬂJc, uf.'(jf}@/) 3

of temperature co-efficient of linear expansion : \
Aluminium agire syt (D) Gold 44 (C) Brass Uz (B) Steel Ut (A)

s o - 17 » " 7 -
A student claimed the diameter : uju’)ﬁ.ﬁwufcu’lf l-g"yb”/'fd‘:1 .032 /ﬁ'y:%t‘u’fc. Z}g/;(wu;.g 4
of a wire as 1.032 ¢cm using Vernier Callipers. Up-to what extent do you agree with it :
AEF10320m D) K7 1.08em (€)  XEFLoem B)  XE7 1om (A)
Actual value of latent heat of vaporization of one : 44‘...8}?&2'5&2@/&/’/(?@(&27”/{-)&&ﬂ/}i{'{fo100 °Cl5
kg water at 100 °Cis : '
5.26x10° kg™ (D) 4.26x10° kg7 (C) 2.26x10° kg™ (B)  3.26x10° Jhg " (A)

50 Km h™" will be equal to - - ‘ 6 s SOKmh™ |6
h d“"“"‘”ﬁﬁ‘;.;;:rp»_, _ _
16.88 ms™ (D) & 15.88'ms TC) 14.88 ms™' (B) 13.88ms” (A)

;:f T = AP " ~
Heat capacity of 5 kg of water wil 4 g d/ o J’(fr di7 J d& (!/:K 517
24000 JK ' (D) ! © 22000 JK~' (B) 21000 JK™' (A)
A string is stretched by two & .Ju‘uﬁd/:L;_‘ION /fﬁ”d/uf/;’ygﬁta&/Lgﬁjfc,ud/‘//:”.ﬂl?»}@/ﬁvp 8
equal and opposite forces 10N a8 W he tension in the string is :
Zero # (D) 10N (C) 20N (B) 5N (A)

The mass of a body : U KﬁJQ
. i .
Increases when accelerated{_b‘@na:”w{g/:‘f“/"g' (B) Decreases when acceleratedc‘_ﬁgﬂﬁé,&)’g (A)

.

Remains constant ‘al:q/d“:” (D) Decreases when moving with high velocity 9?@%&$¢&Uﬁ,‘:~ (C)

5 z b [ #
If the velocity of a body becomes double, then its kinetic energy will - :Lf./'l.@'f"KJJUZ_(gnb@(j’U:J()'J/’/f 10

Becomes half i‘.dlyo/_iﬂ] (B) Becomes four times ‘adwu@ (A)
Remains the same G_J@;j»[ (D) Becomes double §.d(gﬂl‘f» (C)

A force of 10N is making an angle of : KWMJC"JIKUO}.UV -93&1:’/'{ 3O°p>;l/£/§'—x J/}".QJJJ.’. 10|11

30 ° with horizontal, its horizontal component will be

5N (D) 4N (C) 8.7N (B) 7N (A)

in Einstein's mass-energy equation 'C' is the : tLt‘/';;w’ 'C uﬁa’:Lf&)LJLJJbJT 12
Speed of earth ,g{:’Juf/ (B) Speed of electron ,Q{Jw}gl (A)
Speed of light x5 (D) Speed of sound ,Q.f.‘d/ﬂ:f (©)
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10 2. Write short answers to any Five (5) questions : : ol A1) 4 /"' L =y (5) gt & 43:( =2

(i) Define least count, what is the least count of meter rod? S /36 w31, X S Pl K 2 (i)
(ii) Express 3200000W in kilo and megawatt -é,-w*uus’mlff 3200000W Z_se 21, Sy (i)

by using prefixes.
(iii) Write two characteristics of physical quantities. e .:ago,v" %) J Ul gﬁ-? (iii)
(iv) What is meant by banking of road? fe slr o b ST e (iv)
(V) What is braking and skidding? < lf J.«C« s Ly (V)

(vi) How can you relate a force with the change of “u‘é/flm;& y({(‘fv‘ ‘f" K Ju’ C} J/ Vl (vi)
momentum of a body?
(vii) What is the value of radius of earth? fe Y el d/ u"'xjéu"/‘ (vii)

e " o9 ey (viii)

(viii) What is a resultant force?

10 3. Write short answers to any Five (5) questions : J <2 /‘f L ey (5) ét T Jf =3
(i) Define rotatory motion with an example. _Z.;Jv,ﬁmé - /U/u‘r‘d s 0)
(ii) Differentiate scalars and vectors with examples. -d’f u/u" (~£ wiu)v)uuw,/fwu)‘ (ii)
(ili) What is kinematics? e e U S u‘K (iii)

(iv) State Archimedes Principle.
(V) Define Young's Modulus and write its §
(vi) Can we use a hydrometer to measur§

ey, S Jr’f € U (iv)
N LS Sl & 1P S Pk )

y of mllk'r’"u“é/,r’}"‘d")d;waud//uy I/U/(Vl)
Ay 1 ,umJ/ (vii)

(vii) Define thermal conductivity. 5 f’
(viii) How does heat reach us from the gn? fe Li/ il (¢ < Loy <7 (Vi)
10 4. Write short answers to any Five (5)° ‘Yuestions : . o AT /" L =y (5) ét edf _a

(i) How head to tail rule helps to find resultant of forces’P"c.t‘/’/ »C}"/ U L/?PJJJ%J;/J” 9% (i)

(if) What is second condition for equilibrium? = Y 5 / S d/ “ /u’f b (ii)

(iii) Define centre of gravity. é J}‘ d/ Lf)’/ T (iii)

(iv) Why ideal system does not exist in our daily life? ol u.'f( U):.( ,"/ Je e dju 2034 (iv)

(V) Why are fossil fuels called non-renewable form of energy? ‘.‘c.bbl/u[ y,uﬂf L'o'td/ & /U?)’J’ 2 (V)

(vi) Define kinetic energy and potential energy. -é - /’J & /IJ’?MJ /! ..Qd( (vi)

(vii) What is clinical thermometer? Write its range. CJ d/ U T U/ P! / SIS (i)

(viii) Convert 50 °C on a Celsius scale into Fahrenheit -Zerng'cwqub 50°C /J'CJA/ (viii) i
temperature scale. ‘ 1
(PART - II 5.)

Note : Attempt any TWO questions. o 2 £ ety »e &f 1w . J
4 5. (a) Derive a relation between force and momentum. _éio'ubl/d/&w uV»L(&;’/ﬂu‘/} (W) .5
5 ~E UL 1740 km UH KLl o 1 62ms'2 u’kﬁﬁ;yﬁi?fw (&)
(b) The acceleration due to gravity on the moon is 1.62 ms ™ . The radius of moon is 1740 km.
Find the mass of moon. i
4 sy ML G S0 ISE F () 6

6. (a) Define Pascal's law and write a note on hydraullc press.”

5 (b) A train moves _mirkfmu/am _Lg?.(p? 10 &Sz 36 kmh ™' 241 (L)
with a uniform velocity of 36 kmh~ ! for 10 s. Find the distance travelled by it.

1,3 7. (a) Define equilibrium. Explain first condition -é@b;JL/&J(‘/df/’ éu.ﬂ/’d/f/'d:"/i () .7
for equilibrium.

5 (b) Calculate the power - (9 sk St - (P FSAS 6 m 2 10's /2 0t 200 kg tfi (L)
of a pump which can lift 200 kg of water through a height of 6 m in 10 sec.
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L.._a’:?.‘;//)c.ufu;//béfé.)&.bédlf/"{_éKg}'ﬁ -uzé’fé.)D #CcB<A ;«L’K}@E&Jir/" L
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re 10 ms | ,é-:,'u(u’iﬁ _fngju’g)’id/‘-:’ -gpfj;/qum &é/(fo//bvgo)c‘,1009u’l.(f/z~g 11

-1 The mass of stone is 100 g.

A stone is rotating in a circle in a radius 1m with speed10 m
The centripetal force will be :

1ms™ (B) 20ms™" (A)

100ms™ (D) 10 ms™ (C)
The range of clinical thermometer is : i - te Jﬁ C"Jd/ /"f)"/2 M 2
20°C-42°C (D) ~ 25°C-42°C (C) ff3°C-42°C (B) 35°C-42°C (A

The work done will be zero when angle between force find distance is :9,5UU&'ALJJ Gu’u’/,;’/l Kn}‘_ﬁ:
180° (D) 60° (C) 45° (B) 90°(A)
e Ay s s o |4

Which of the following is a vector quantity :

Power »“L_ (D) Displacement ..*/’:&15 C) Distance b (B) Speed iz (A)
(éJ.’J/))
(2)
Kinetic energy of a body having a mass of 2kg : d/ﬂ&ﬂb@(jb/?n S5ms ™! i{/ﬂ(l/jb/ ZJLK()'UJ//' 5-1
and speed 5,5 s : ' -
12.5J (D) 504 (C) 25J (B) 204 (A)
Sl unit of tr:ermal conductivity.is : fe 2SI C}’}ffd/ J/? 6
fim K_(D) 'k (©) Wm K™ (B) WK (A)
Unit of momentum is : e 2K ft]"/r‘ 7
N5l (D) S {0) Nm (B) ‘Ns (A)
The value of tan 45° is : te bw 4z tan 45° |8
0.707 (D) 0.500 (C) 1 (B) 0.866 (A)

The value of 'g' at a height on earth's radius above the 14.(3!?/6}1" sl b il S el S g
surface of earth is : ‘ i & L/"J uf;c,uf/i’_,xjd/ 5 °

Vie ) Ve © - Ve ®) 29 (A)
Specific heat of water is : - " d/ ¥ J!‘“g =7 J [}L 10
4200 kg 'K (D) 4200 Jkigk ™' (C) 4200 kg’ K (B)  4200kgJ 'K (A) ’
Least count of digital Vernier Callipers is : fe bm ey )/”d:( ﬁj} Jff';’ 11
0.01 mm (D) 0.1 mm (C) 0.001 mm (B) 1 mm (A)
Which of the substance is the lightest one : te uq S gt E v c):'/ 12
Lead % (D) Mercury d// (C) Aluminum #=! (B) Copper /§ (A)
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10 2. Write short answers to any Five (5) questions : :Z‘f =R /‘“" L =y (5) ét ;J 2
b -

(i) Define least count. What is the least count of a S a5 I3, 2 L -éJfJ&?KM (i)

. meter rod?
(i) Define base quantities and derived quantities.

S

_EE L f g A e G (i)

(iiiy How do the prefixes mi ' 3 " o 7 G
p icro, nano and pico relate to each others?%< ub' WVERT K,_g./;lx: iy f%{ (iii)

(iv) What is the relation betw 3 T¥ ¢ 2
een force and momentum? fe QL’/ y/ AT fj"';’ s Js? (iv)

(v) What is co-efficient of frigtion? "
(vi) Write two methods of re}:!

(vii) What is meant by gravitati
write its value on earthg

(viil) Why it is said that gravita alorcells a non-contact force? ‘.’git“ U,
: 28 M
1

iction.

o o et w?d K S h (V)
é‘f e '&U&/’»LA./{;‘/,S;(V!)
ngth, - &= SRS Bk bl U i 555 (Vi)

%,{J"/ffw}ﬁdg/ (viii)

10 3. Write short answers fo a‘riﬁive 5) questions : ey (5) &L <
(i) Define graph and writdits uses. g Tl 25 ) £ ol
(i) When is a body said to be at [t N R () 4 ui"_‘//"u,/ (;“3 rq ((3
(iii) Why vector quantities can not be add d’ , @ dar L 3 ‘ 2R u b ~|
.A subtracted like scalar quantities? edand dﬁm{c; Uu‘ 4 u‘j'/d jﬂb’.d’u”’w/{ s (iii)
(iv) If mass of 5 litre of water is 5 kg, calculate its density. -g;’r,bf(j"’{ J‘;‘}ﬂr, K5 SwdL2 50 (i)
(v) Define hydrometer and write its uses. _&U J(;f; § i é.»‘/.’g ./'”uﬁﬁ; W)
(vi) Why does the atmospheric pressure va i i w 2,04 g
) vy ry with height? > B V.0 ALk A S, it
(213 = blodiU dﬂ.ﬁ{J/’W(v.)
(2) ” . P
3. (vii) Define green house effect. <§:/ i J ey 3t Jﬁ/ (viiy -3
(viil) What is meant by convection current? fe Sy t_f e & A ).\5 (vili)
ol oz ALy (5) bhedf -4

10 4. Write short answers to any Five (5) questions :

4
5

(i) Describe resolution of force. -f,: vk J{;” M) gp-ye 97 (i)
(ii) Define centre of mass. -é -7 d/ JLST ()
e Lyde § wird (i)

(i) Narrate name of states of equilibrium. -
S B A e W)

(iv) Define heat and electrical energy. "
(v) Write two methods by which nuclear energy is released.-é 27 Sif o & Lnlb & ﬁ.{;ﬁ (v)
T K 1S G ds ()

(vi) What is wind energy? Write its uses. v
(vii) What do you mean by upper and lower fixed fe_ oy Y = Uy 38 2 g0 £ v/ (Vi)
points on thermometer? oty w e

(viii) Define latent heat of fusion. : -g‘fx/ -/ J a7 d’; (_,( 51)9.,.1 (viii)

__ (PART-II (u? ) g1 %

Note : Attempt any TWO questions. - AN Lely »e 6 Y
5. (a) State and explain Newton's third law of motion
with examples. s, P ,
008673 N Ui ss Snl Uty g el m Lilsgn (&)

<P rfw)fLLU'-é‘;.O.
(b) The gravitational force between two identical lead spheres kept at 1m apart is 0,006673 N. Find

their masses. ;
6. (@) ?plain in detail the types of motion. L
iy § 20N U 41 e 20mmiL LIS e U Ot (2

2l sl e Ji30 AN
(b) The head of apin is a square of side 20mm, find the pressure on it due to a force of 40N.

7. (a) Define energy and write a n
of energ . :
Y e SNM;{-yJMZN M)..I -X Ku’-z,uyj,uw»&wm ()

(b) Find the magnitude and -
direction of a force, if its x-component is 12N and y-component is 5N.
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